110
¥

J~4

~

~N

(-
(=
(=

ﬁ‘k
= 2
s

B4 e 4

AFIITE27 1878

Fp g 2P F % 1110002193 5L+ 2
Bgh 110 & 2554 R AL REFR 4R8P B E S 19 8RR

T2 e

Fwfp A FELH TR SHF

AR (TR )EFEF 1004 5mA 604 5 E #0 A% 604

RS RS SR RS C i DYt

LRI AR R LT
EREERARTE 2 AT

DFEFAR R TR

Ep e fp A% B BPEFH o T BT~ o A p 2 AR
E)?I;b:, Egﬂt’”'ﬁ A’\ﬁiipxﬁip 2 jfi/\ ’ ﬁ,fip,filn\

Ehaplco JHEEREILY -
LPERAFR SR AT
)T PRk 409 e

VE A A L 30% -
VP R RISk F 30% e

o

Ao EREEER SR AT

(- )% - PFg e

RERE
(D ZFHFz ~ 2 FFE2 sapp B o
(2)% #'Jr%r ER-3/3-F 20

4

(4)p éé"é’?ﬁ‘l’??#izﬁo

(D)BIBRTE P @ d BREFKTF BN FF SRk -

(1> i/f > /;‘}- g“f&,{h‘o

(mﬁ%ﬁﬁ-é&%ﬁsﬁ&%P??ﬁM%o

3. SHF :

Lfeig T R



(Z)F K
1.3

(g s (e ~ 5 2 %) ¢ S pE4 10 = 2 > F 383 10
# o 30 A (B )

(2) T BT Bpde (I e ~ A 2 %) P SPHFEH 10 2 ¢ > F 388 10
# o 30 A (B )

()EF (S o4 (Frfpde ~ FF 2 %) P SHFEZR 10 2 ¢ > 5588 10
#0060 frdap = (3TiEEa R 100 & = fE B ) o

(DRIFHB P D TESFEFRE FF2F) > 2T R (T i -
FE2Z)2 @R RHF(FRE -FE22%) -

A

(D2 % 84 FlfcE 2 57 8 RY

(2) ™ 454~ 3 R e

(BRISRIE P - o FHHF HIHR FROTRR

2.5 6 i

(1)F B 5 -
()7 GHZFTF VR TAFZEEY (745 108) o
(3)plZkAE P 2 d FHRRTE HEGEN B F 5 R

3. SHHF

by =
RN 31

(DF F™ S - f3r fEle ¢~ iR - HFLHR
P bpF ~ ST ISHEGE ™ A - B BB R B A FiE ST o

() EZRH B F 0 T P F P~ B 58 TR R o

(B)iPIBRIE P © d FFHKF HBRN 7R 5B

LR E R F R 4o Y et RIS o s Rl 2T RE

A AR N EFRS A DR R )RR A R BT

A B
AN EEHPDERBERHREEZ Y (2%) T FARLT CHE R
1%‘“ﬁ*\*ﬂéﬁéé*%?ﬁﬂ%i’ﬁ@; 2% 6 BT

R BT RBH R T HRE LA SRR AR F

e

BlEgan o PSR P R RARR B RE > B R PR R o

1~ AR PR (EFF)SFEVEPRL T B FE o

2



